2.1 — Inequalities

Student name:

1. Solve forx.

10 < 2(6 —x)

2. (a) Solve this inequality.

(b) Show your answer to part (a) on this number line.

3. Solve.

4. Solve.

5. Solve the inequality.

O—x > 06x+2

6. | x| <4 and x is an integer.

Find the smallest possible value of x.

7. Solve.

8. 3x+2=5x—-6

(a) Solve the inequality.

(b) Show your solution to part (a) on this number line.

TTTTTTTTTTT1
-6 -5 -4
9. Solve.
Ix+7< 1
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Score:
x> 1
........................................ [3]
3x+2)>=5x-2
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2x+3<4(x-2) > 55
e = [3]
2043 > 2(3x— 1)
x <1.25
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4x+2>32x—4)
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kA [2]
« ®
ST I T 1T X
-3 -2 -1 0 1 2 4 5 &)
(1]
< _
............ XS i 2




10. (a) Find a fraction, n, that satisfies this inequality.

5 6
7<H<7

any fraction in range

(b) Write down an 1rrational number, m, that satisfies this inequality.

4<m<7
_ any irrational number in range
11. Solve 3—x=2x+15.

12. (a) Write down the integer solutions to this inequality.

—2<2x <8 L0.1.2.3
......... T T [2]
(b) Solve 2+2x > 5x+14.
x<-4 2]
13. Solve.
x—4)x+3)>0
XA x< 3 [2]
14. Solve.
9—2x < 5(x+6)
x>-3 _
.................................................... [3]
15. Solve 2x+3 < 5x—12.
>
R 2]
16. On the number line, show the mnequality —2 <x < 3.
¢ O
Sl A 177 17T 1 1T " === r==-=-- =%
—4 -3 -2 -1 0 1 2 3 4 ) [2]
17. Solve.
6x* —7x—3 <0
——<x<cz
................... 3 2 B3]
18. Show this inequality on the number line.
-3 <x<4
____ T_'"'T""'T""'T""'T'_"'l'__'__.r""'l'""'r"'}
| 0 1 2 3 4 5 6 x [2]
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19. Show the inequality —1 < x<4 on this number line.

20. List the integer values of x for which —4 < 2x < 6.

21. Solve.

4x+9<3(2x—1)

®
[reemeeaessanenn o r....'_ X
3 4 5

T2 SO,
22, O
T T T T T T T T T X
-6 -5 4 3 2 -1 0 3 4
Write down the inequality shown above.
—3<x<L2
23, List the integer values of x such that —3 <x < 1.
_2’1’0’1 .........................
24. (a) Solve 3x—2 > 7x+6.
......... XS e
(b) Show your solution to part (a) on this number line.
< O
........ lllTTrI1TT1""r
S 4 3 2 -1 0 1 4 5 '
25. Find the integer values of x when —1 <x < 3.
....... . 1’0’1’2
26.Solve 2x+6 > 5x—10. 16 1
x < 3 orx <5 3
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